C:# Comparing Fraction Relative Size Name:

Solve each problem. Answer with the fraction. Answers
1) L .2 1 .
Which is heavier? /5 of agram or / of akilogram? 1
2) . . 2 1 . . 2
A Wal-Mart parking lot is /3 full at 3pm and /5 full at 4pm. Which amount is more?
3.
3) : 2 : : 1 .
Emily drank /3 of acan of diet soda. Billy drank /3 of acan of regular soda. Which
amount is less? 4.
4 3
4 Which islighter? /g of agram or /5 of agram? .
5) . . 6 - 5 . 6.
Which has the lower capacity? /7, of amilliliter or /3 of aliter?
6 1 3 !
) Which has more people? A school busthat is 7, full or acar that is 7, full?
8.
7) . : . 4 . 9
Which has more people? A football stadium that is /3o full or aclassroom that is /10 full? || o
8) : ) . 2 10.
Which has more water? A pond that is /3 full or apond that is 73 full?
9 9 6 H
) Whichis longer? /3o of aminute or /; of an hour?
12.
10) . . 3 1
Which has less people? A car that is /7, full or acar that is / full? 1
11) . .1 . 2 14.
Which has less water? A pond that is /5 full or acooler that is 7/ full?
12 1 4 e
) Which has less people? A school bus that is 7 full or acar that is /g full?
13) e 1 : 4 :
Whichislighter? A /5 pound red bowling ball or a /5 pound blue bowling ball?
14) . 3 1
Which would feed less people? /6 of agrape or /6 of awatermelon?
15) 1 : 5 :
Gwen drank /g of acan of diet soda. Henry drank /g of acan of regular soda. Which
amount is more?
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Ch Comparing Fraction Relative Size Name: Answer Key

Solve each problem. Answer with the fraction. Answers
2 1 1
2 Which is heavier? /5 of agram or / of akilogram? 1 /5
2
2 1
2 A Wal-Mart parking lot is /3 full at 3pm and /3 full at 4pm. Which amount is more? 2 3
1
3. 3
3) : 2 : : 1 .
Emily drank /3 of acan of diet soda. Billy drank /3 of acan of regular soda. Which 3
amount is less? 4. 5
4) e 4 3 6
Which is lighter? /5 of agram or 7 of agram? : 10
1
5) . . 6 - 5 . 6. 4
Which has the lower capacity? /7, of amilliliter or /3 of aliter?
4
7. 10
6) . 1 . 3
Which has more people? A school busthat is 7, full or acar that is 7, full? 5
8 10
7) . : . 4 .9 6
Which has more people? A football stadium that is /3o full or aclassroom that is /10 full? || o 10
1
2
8 Which has more water? A pond that isS/lo full or apond that is /3¢ full? 1o 4
2
g o 6 11. 7
) Whichis longer? /3o of aminute or /; of an hour? 4
12. 5
3 1 1
100 which has less people? A car that is 7, full or acar that is 7, full? 1 :
3
1 2
1) Which has less water? A pond that is /5 full or acooler that is 7/ full? 14 6
5
12 1 4 e /8
) Which has less people? A school bus that is 7 full or acar that is /g full?
13) e 1 : 4 :
Whichislighter? A /5 pound red bowling ball or a /5 pound blue bowling ball?
14) . 3 1
Which would feed less people? /6 of agrape or /6 of awatermelon?
15) 1 : 5 :
Gwen drank /g of acan of diet soda. Henry drank /g of acan of regular soda. Which
amount is more?
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